3 7 13
( )91 -1
( )91
1, 690, 000, 000 19,100 /
1
(1) 3 7 1 (9 3 7 8 (6) 3 1] !
1.1
(2) 3 6 15 (5)
(3)
2
(1) 88, 571
()] ( )
( 60, 200)
151 16m ( )
(2 800 500 600
250 360 90, 000
2. 7km ( 60, 200)
(3 (4) 0.0
(5) 19,100 /
/
/
/
(6)
(7
(8) - - 0.0 -2.0
0.0 +3.5
9-2 ( /) 0.0 +13.0
[ 100.0]| 100 100 |[ 100.0] 19.100 8'8 8‘8
21,900 / 100 |[ 100.0]|[ 114.6]| 100 ’ 0.0 )
(9
Cr)
[ 1/ 100 100 |[ ]
/ 100 || 1 1l 100
(10 -1
- ]
19,100 /
-2
] (|

0.0




3 7 15
)9-2 -1
( )92
57, 100, 000 19,000 /
1
(1) 3 7 1 (9 3 7 10 ()1 3 ] !
1.1
(2 3 6 15 (5)
(3)
2
(1 3,003
()]«
( 60, 200)
1:1 10m ( )
1 2. 5km
(2) 50 700 400 400
50.0 60.0 3,000
2.5km 3(60 200)
(3 (4) 0.0
5 19,000 /
/
/
/
(6)
(7
) O - 0.0 2.0
0.0 -3.0
93 (1) 0.0 +18.0
[ 100.0]| 100 100 [ 100.0] 15 000 8'8 +18‘8
23,500 / 100 |[ 100.0]|[ 123.4]| 100 ' 0.0 '
(9 0.0 +3.0
0.0 +0.5
( )91 ( 1) 0.0 -3.0
[ 100.0]| 100 100 |[ 100.0] 19. 000 8'8 8‘8
19,100 / 100 |[ 100.0]|[ 100.4]| 100 : 0.0 '
(10) -1
- ]
19,000 /
-2
1 |
93
23,500 |/
0.0 | -19.1




7 13
()93 -1
( )93
61, 000, 000 24,400 /
1
(1) 3 1 (4 3 7 (6|l 3 1] 18,000 /
(2 3 15 (5)
(3)
2
(1 2,499
()] (
( 60, 200)
8m ( )
121 2 1. 3km ( 70, 200 )
(2 150 100 500 150
55.0 46.0 2,499
1. 3km 3
1( 70, 200)
S (4 +3.0
(5) 24,400 |/
/
/
/
(6)
(7
(8) = -
I )
[ 1| 100 100 | ]
100 | I 1/ 100
(9) 0.0 +5.0
0.0 -6.0
()91 ) 0.0 -9.3
[ 100.0]| 100 100 |[ 103.0] o4 400 8-8 ‘18-8
19, 100 100 |[ 100.0]|[ 80.6 ]| 100 ’ 0.0 '
(10) -1
L (|
24,600 |
-2
] ]
/
-0.8




3 7 13
()94 -1
( )94
79, 100, 000 24,000 /
1
(1) 3 1 (8 3 7 (6) [ 3 1] /
1.1
(2) 3 15 [(5)
(3)
2
(1) 3,29
()] (
( 60, 200)
1:1.2 12m ( )
2 3. 4km
2 500 200 400 300
50 60 3, 000
3. 4km !
(60, 200)
(3 (4
24, 000 /
(5)
/
/
/
(6)
(7
(8) o
I )
[ 11 100 100 | ]
100 [ i 1l 100
(9 0.0 +2.0
0.0 +4.5
( )91 /) 0.0 -17.0
[ 100.0]| 100 100 |[ 100.0] o4 000 8'8 '18'8
19, 100 100 |[ 200.0]|[ 79.6 ]| 100 ’ 0.0 '
(10
- |
24,000 /
O |
/
0.0




